2. Any revealing of identification, appeal 1o evaluator and /or equations written cg, 42+8 = 50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsonly draw diagonal cross lines on the remaining: blank pages.
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2. Prove that (1+cos0+isin B)f .ﬁ(l+lcosB-isin 0)' =2"" cos (g)co{nzg) (08 Marks)
b. Express 1-i+/3 in the polir fonn and hence find its modulus and amplitude. (06 Marks)
1 ! f© h
. Find the argument of J—l ‘ (06 Marks)
) —J_l )
‘..x’. s OR“ :“\’
a. If A=4§+3}+ﬁ' and 13:2}—}+ 2k find a'Uhit vector N perpendicular to both A and B
such that' A B and N from a nght handed system. (08 Marks)
‘l| "
b. Ifa -—l+2_] -3k and b 3i- _]+7k then show that(a+b.) and(a b)are orthogonal.
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Hie & e a\:s -
€. Show that the position vectors of the vertices of amangle A= 3( 31 J),B =61 and
C= 3(\/_; 3i+j) forman 1soscelcs triangle. . 4 L," > (06 Marks)
d Module-2’
a. Obtain the Maclaurin series expansion of log'secx upto to the tcrms containing x°. (08 Marks)
3 LI |
b. Ifu= tan"[x—+!—) prove that XU, +yu =sin2u. , = (06 Marks)
AXTY ' e
c. Ifu= f(x Y, Yy—Z,Z—X), show that u +u +u, =0, 1 (06 Marks)
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E oy L du ¢ & ’:,’;
b. ‘Using Euler’s theorem, prove that )g—é;+ yg=3u logu.Ifu=e*". (06 Marks)
™ > i Al 4
PR :; 7I":’) /]
c. Ifu=x+ y,’v‘_‘= y+tz, w=z+Xx, find J{M) (06 Marks)
~ g X,¥,2
..‘m"" MOdule 3
a. A particle moves along thc curve 1= cos2ti+sin2t ) j+tk, find the velocity and
acceleration at t =n-—..along V2i+42] j+ k. ' (08 Marks)
b. Find the unit nohgéi to the surface, xy+x+2zx=3 at(l,1,1). (06 Marks)
¢ f =t = " g .
C. Find the constant ‘a’ such that the vector field F=2xy’z’i+2x’yz’j+ax’y’zk is

imotational. (06 Marks)
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